## 2017 CONTRACT BID FOR: Roll Material

ITEM:	Roll Material	Osk	ourn
MATERIAL	QUANTITY	UNIT	AMT
3M Diamond Grade DG3 Reflective Sheeting - Standard Colors – Series 4000	2400	\$2.77	\$6,648.00
3M Diamond Grade Fluorescent DG3 Reflective Sheeting – Standard Colors – Series 4080	300	\$2.86	\$858.00
3M Scotchcal Graphic Film – Black – Series 3650-12	300	\$0.98	\$294.00
3M ElectroCut Film - Standard Colors – Series 1170	3000	\$0.92	\$2,760.00
TPM-5 Clear Transfer Tape	1800	\$0.29	\$522.00
ROLL MATERIA	L TOTALS	\$11,0	82.00

## Bids received for 2018 Annual Traffic and Safety Sign Materials and Sign Posts

BIDS RECEIVED FOR: Vertical Strips

BID DATE: 04/19/2018

ITEM	Vertical Strips	Osk	ourn	Dori	nbos	Lig	htle	Rat	hco	New	man
MATERIAL	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
3M Diamond Grade DG3 Reflective Sheeting - Standard Colors – Series 4090	25	\$6.41	\$160.25	\$7.03	\$175.75	\$8.50	\$212.50	\$9.35	\$233.75	\$10.19	\$254.75
3M Diamond Grade Fluorescent DG3 Reflective Sheeting - Standard Colors – Series 4080	25	\$6.41	\$160.25	\$7.10	\$177.50	\$8.70	\$217.50	\$9.42	\$235.50	\$10.35	\$258.75
VERTICAL STRIF	PS TOTALS	\$32	0.50	\$35	3.25	\$43	0.00	\$46	9.25	\$51	3.50

No Bid - Vulcan

BID DATE:

04/19/2018

ITEM:	Series 4090	Osl	ourn	Rat	thco	Lig	htle	Dor	nbos	Nev	vman
DESCRIPTION	QUANTITY	UNIT	AMT								
9" X 12"	5	\$3.85	\$19.25	\$4.25	\$21.25	\$3.10	\$15.50	\$4.22	\$21.10	\$8.32	\$41.60
12" x 12" (2 color)	5	\$5.13	\$25.65	\$5.95	\$29.75	\$4.20	\$21.00	\$5.62	\$28.10	\$10.70	\$53.50
12" x 18"	25	\$7.70	\$192.50	\$9.32	\$233.00	\$5.96	\$149.00	\$8.43	\$210.75	\$20.45	\$511.25
12" x 36"	25	\$15.39	\$384.75	\$16.74	\$418.50	\$11.91	\$297.75	\$16.86	\$421.50	\$21.20	\$530.00
18" x 6"	20	\$3.85	\$77.00	\$4.19	\$83.80	\$3.10	\$62.00	\$4.22	\$84.40	\$8.30	\$166.00
18" x 30"	10	\$19.24	\$192.40	\$20.93	\$209.30	\$14.90	\$149.00	\$21.08	\$210.80	\$26.15	\$261.50
21" x 15"	5	\$11.18	\$55.90	\$12.21	\$61.05	\$8.70	\$43.50	\$12.31	\$61.55	\$16.60	\$83.00
24" x 9"	5	\$7.70	\$38.50	\$8.37	\$41.85	\$6.00	\$30.00	\$8.43	\$42.15	\$11.18	\$55.90
24" x 12"	5	\$10.26	\$51.30	\$11.16	\$55.80	\$7.94	\$39.70	\$11.24	\$56.20	\$15.50	\$77.50
24" x 18"	20	\$15.39	\$307.80	\$16.74	\$334.80	\$11.91	\$238.20	\$16.86	\$337.20	\$16.45	\$329.00
24" x 24"	5	\$20.52	\$102.60	\$22.32	\$111.60	\$15.88	\$79.40	\$22.48	\$112.40	\$27.41	\$137.05
24" x 24" 2 color	20	\$20.52	\$410.40	\$22.94	\$458.80	\$16.00	\$320.00	\$22.48	\$449.60	\$27.90	\$558.00
24" x 30"	300	\$25.65	\$7,695.00	\$27.90	\$8,370.00	\$19.85	\$5,955.00	\$28.10	\$8,430.00	\$32.70	\$9,810.00
24" x 30" 2 color	5	\$25.65	\$128.25	\$27.12	\$135.60	\$20.00	\$100.00	\$28.10	\$140.50	\$23.70	\$118.50
24" x 36"	25	\$30.78	\$769.50	\$33.48	\$837.00	\$23.82	\$595.50	\$33.72	\$843.00	\$38.38	\$959.50
24" x 42"	20	\$35.91	\$718.20	\$39.06	\$781.20	\$27.79	\$555.80	\$39.34	\$786.80	\$30.97	\$619.40
30" x 12"	5	\$12.83	\$64.15	\$13.95	\$69.75	\$9.93	\$49.65	\$14.05	\$70.25	\$23.98	\$119.90
30" x 30"	10	\$32.06	\$320.60	\$34.88	\$348.80	\$24.81	\$248.10	\$35.13	\$351.30	\$39.88	\$398.80
30" x 30" 2 color	10	\$36.13	\$361.30	\$35.12	\$351.20	\$25.00	\$250.00	\$35.13	\$351.30	\$28.45	\$284.50
30" x 30" R1-1	100	\$31.50	\$3,150.00	\$34.04	\$3,404.00	\$24.81	\$2,481.00	\$33.44	\$3,344.00	\$39.88	\$3,988.00
30" x 36"	60	\$38.48	\$2,308.80	\$41.85	\$2,511.00	\$29.78	\$1,786.80	\$42.15	\$2,529.00	\$47.00	\$2,820.00
36" x 36" R1-1	25	\$46.17	\$1,154.25	\$48.14	\$1,203.50	\$35.73	\$893.25	\$48.33	\$1,208.25	\$56.15	\$1,403.75
36" x 36" R1-2	20	\$23.09	\$461.80	\$22.34	\$446.80	\$18.00	\$360.00	\$25.29	\$505.80	\$29.78	\$595.60
36" x 36"	5	\$46.17	\$230.85	\$50.22	\$251.10	\$35.73	\$178.65	\$50.58	\$252.90	\$55.60	\$278.00
48" x 9" R15-1	5	\$88.34	\$441.70	\$54.76	\$273.80	\$23.82	\$119.10	\$58.03	\$290.15	\$41.63	\$208.15
48" x 24"	5	\$41.04	\$205.20	\$44.64	\$223.20	\$31.76	\$158.80	\$44.96	\$224.80	\$50.08	\$250.40
48" x 30"	20	\$51.30	\$1,026.00	\$55.80	\$1,116.00	\$39.70	\$794.00	\$56.20	\$1,124.00	\$63.03	\$1,260.60
48" x 48"	5	\$82.08	\$410.40	\$89.28	\$446.40	\$63.52	\$317.60	\$89.92	\$449.60	\$64.95	\$324.75
54" x 30"	5	\$57.71	\$288.55	\$62.78	\$313.90	\$44.66	\$223.30	\$63.23	\$316.15	\$47.02	\$235.10
SERIES 4090	SIGNS TOTAL	\$21,5	592.60	\$23,1	42.75	\$16,5	511.60	\$23,2	253.55	\$26,4	179.25

BIDS RECEIVED FOR: Prefabricated Reflectorized Signs

BID DATE:

04/19/2018

ITEM:	Fluorescent - Series 4080	Osl	burn	Rat	thco	Lig	htle	Dor	nbos	Nev	vman
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT	UNIT	AMT
12" x 36"	100	\$15.39	\$1,539.00	\$16.92	\$1,692.00	\$20.04	\$2,004.00	\$17.04	\$1,704.00	\$21.60	\$2,160.00
18" X 18"	5	\$11.54	\$57.70	\$12.69	\$63.45	\$15.03	\$75.15	\$12.78	\$63.90	\$17.30	\$86.50
24" x 8"	15	\$6.84	\$102.60	\$7.52	\$112.80	\$8.95	\$134.25	\$7.55	\$113.25	\$11.85	\$177.75
24" x 10"	5	\$8.55	\$42.75	\$9.40	\$47.00	\$11.14	\$55.70	\$9.49	\$47.45	\$11.72	\$58.60
24" x 12"	10	\$10.26	\$102.60	\$11.28	\$112.80	\$13.36	\$133.60	\$11.36	\$113.60	\$15.75	\$157.50
24" x 18"	10	\$15.39	\$153.90	\$16.92	\$169.20	\$20.04	\$200.40	\$17.04	\$170.40	\$21.65	\$216.50
24" x 24"	50	\$20.52	\$1,026.00	\$22.56	\$1,128.00	\$26.72	\$1,336.00	\$22.72	\$1,136.00	\$28.80	\$1,440.00
24" x 30"	50	\$25.65	\$1,282.50	\$28.20	\$1,410.00	\$33.40	\$1,670.00	\$28.40	\$1,420.00	\$33.37	\$1,668.50
30" x 30"	300	\$32.06	\$9,618.00	\$35.25	\$10,575.00	\$41.75	\$12,525.00	\$35.50	\$10,650.00	\$40.72	\$12,216.00
30" x 30" 3 color	100	\$32.06	\$3,206.00	\$38.92	\$3,892.00	\$46.50	\$4,650.00	\$41.63	\$4,163.00	\$53.50	\$5,350.00
30" x 36"	10	\$38.48	\$384.80	\$42.30	\$423.00	\$50.10	\$501.00	\$42.60	\$426.00	\$48.00	\$480.00
36" x 36"	25	\$46.17	\$1,154.25	\$50.76	\$1,269.00	\$60.12	\$1,503.00	\$51.12	\$1,278.00	\$56.80	\$1,420.00
36" x 36" 2 color	5	\$46.17	\$230.85	\$55.12	\$275.60	\$60.25	\$301.25	\$51.12	\$255.60	\$78.47	\$392.35
36" x 36" 3 color	50	\$46.17	\$2,308.50	\$55.76	\$2,788.00	\$65.50	\$3,275.00	\$59.74	\$2,987.00	\$64.48	\$3,224.00
36" Circle	10	\$46.17	\$461.70	\$49.14	\$491.40	\$60.12	\$601.20	\$51.60	\$516.00	\$58.82	\$588.20
36" Pentagon	10	\$46.17	\$461.70	\$49.02	\$490.20	\$60.12	\$601.20	\$53.18	\$531.80	\$57.37	\$573.70
48" x 24"	150	\$41.04	\$6,156.00	\$45.12	\$6,768.00	\$53.44	\$8,016.00	\$45.44	\$6,816.00	\$50.85	\$7,627.50
48" x 36"	100	\$61.56	\$6,156.00	\$31.76	\$3,176.00	\$41.00	\$4,100.00	\$34.08	\$3,408.00	\$40.87	\$4,087.00
60" X 30"	5	\$64.13	\$320.65	\$70.50	\$352.50	\$83.50	\$417.50	\$71.00	\$355.00	\$80.50	\$402.50
SERIES 4080	SIGNS TOTAL	\$34,7	<mark>765.50</mark>	\$35,2	235.95	\$42,1	100.25	\$36,1	155.00	\$42,3	326.60
		Osl	ourn	Rat	thco	Lig	htle	Dor	nbos	Nev	/man
PREFABRICATED REFLECTORIZED	SIGN TOTALS	\$56,3	58.10	\$58,3	78.70	\$58,6	11.85	\$59,4	08.55	\$68,8	05.85

No Bid - Vulcan

BIDS RECEIVED FOR: Aluminum Sign Blanks

BID DATE:

04/19/2018

ITEM:	0.080 Gauge Flat Treated Aluminum Sign Blanks	Osl	ourn	Rat	thco	Vu	can	Dor	nbos	Lig	jhtle	Nev	vman
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT								
12" x 6" Rectangle	5	\$1.19	\$5.95	\$1.25	\$6.25	\$1.27	\$6.35	\$1.31	\$6.55	\$1.60	\$8.00	\$2.55	\$12.75
24" x 12" Rectangle	75	\$4.76	\$357.00	\$4.80	\$360.00	\$4.88	\$366.00	\$5.22	\$391.50	\$5.76	\$432.00	\$6.12	\$459.00
30" x 12" Rectangle	200	\$5.95	\$1,190.00	\$6.00	\$1,200.00	\$6.10	\$1,220.00	\$6.53	\$1,306.00	\$7.20	\$1,440.00	\$7.30	\$1,460.00
36" x 12" Rectangle	150	\$7.14	\$1,071.00	\$7.20	\$1,080.00	\$7.36	\$1,104.00	\$7.83	\$1,174.50	\$8.64	\$1,296.00	\$8.85	\$1,327.50
42" x 12" Rectangle	100	\$8.33	\$833.00	\$8.40	\$840.00	\$8.44	\$844.00	\$9.14	\$914.00	\$10.08	\$1,008.00	\$10.05	\$1,005.00
48" x 12" Rectangle	50	\$9.52	\$476.00	\$9.60	\$480.00	\$9.65	\$482.50	\$10.44	\$522.00	\$11.52	\$576.00	\$11.23	\$561.50
54" x 12" Rectangle	75	\$10.71	\$803.25	\$10.80	\$810.00	\$10.85	\$813.75	\$11.75	\$881.25	\$12.96	\$972.00	\$12.43	\$932.25
24" x 9" Rectangle	30	\$3.57	\$107.10	\$3.60	\$108.00	\$3.50	\$105.00	\$3.92	\$117.60	\$4.32	\$129.60	\$5.27	\$158.10
30" x 9" Rectangle	75	\$4.46	\$334.50	\$4.50	\$337.50	\$4.39	\$329.25	\$4.91	\$368.25	\$5.40	\$405.00	\$6.17	\$462.75
36" x 9" Rectangle	100	\$5.36	\$536.00	\$5.40	\$540.00	\$5.59	\$559.00	\$5.87	\$587.00	\$6.48	\$648.00	\$7.05	\$705.00
42" x 9" Rectangle	50	\$6.24	\$312.00	\$6.30	\$315.00	\$6.46	\$323.00	\$6.86	\$343.00	\$7.56	\$378.00	\$7.95	\$397.50
48" x 9" Rectangle	20	\$7.14	\$142.80	\$7.20	\$144.00	\$7.27	\$145.40	\$7.83	\$156.60	\$8.64	\$172.80	\$8.85	\$177.00
54" x 9" Rectangle	10	\$8.02	\$80.20	\$8.10	\$81.00	\$8.49	\$84.90	\$8.82	\$88.20	\$9.72	\$97.20	\$9.73	\$97.30
12" x 18" Rectangle	25	\$3.57	\$89.25	\$3.60	\$90.00	\$3.76	\$94.00	\$3.92	\$98.00	\$4.32	\$108.00	\$5.27	\$131.75
24" x 18" Rectangle	20	\$7.14	\$142.80	\$7.20	\$144.00	\$7.28	\$145.60	\$7.83	\$156.60	\$8.64	\$172.80	\$8.85	\$177.00
24" x 30" Rectangle	20	\$11.90	\$238.00	\$12.00	\$240.00	\$11.84	\$236.80	\$13.05	\$261.00	\$14.40	\$288.00	\$13.62	\$272.40
30" x 36" Rectangle	5	\$17.85	\$89.25	\$18.00	\$90.00	\$18.17	\$90.85	\$19.58	\$97.90	\$21.60	\$108.00	\$19.25	\$96.25
24" x 36" Rectangle	10	\$14.28	\$142.80	\$14.40	\$144.00	\$14.35	\$143.50	\$15.66	\$156.60	\$17.28	\$172.80	\$16.00	\$160.00
42" x 24" Rectangle	5	\$16.66	\$83.30	\$16.80	\$84.00	\$16.67	\$83.35	\$18.27	\$91.35	\$20.16	\$100.80	\$19.20	\$96.00
48" x 24" Rectangle	5	\$19.04	\$95.20	\$19.20	\$96.00	\$19.04	\$95.20	\$20.88	\$104.40	\$23.04	\$115.20	\$20.43	\$102.15
48" x 30" Rectangle	10	\$23.80	\$238.00	\$24.00	\$240.00	\$23.81	\$238.10	\$26.10	\$261.00	\$28.80	\$288.00	\$26.70	\$267.00
24" x 24" Diamond/Square	20	\$9.52	\$190.40	\$9.60	\$192.00	\$9.60	\$192.00	\$10.44	\$208.80	\$11.52	\$230.40	\$11.23	\$224.60
30" x 30" Diamond/Square	20	\$14.88	\$297.60	\$15.00	\$300.00	\$14.91	\$298.20	\$16.31	\$326.20	\$18.00	\$360.00	\$16.60	\$332.00
36" x 36" Diamond/Square	20	\$21.42	\$428.40	\$21.60	\$432.00	\$21.69	\$433.80	\$23.49	\$469.80	\$25.92	\$518.40	\$22.82	\$456.40
ALUMINUM SIG	N BLANKS TOTALS		\$8,283.80		\$8,353.75		\$8,434.55		\$9,088.10		\$10,025.00		\$10,071.20

D DATE:	04/19/

ITEM:	Green Baked - Truckload	Dor	nbos	Ost	ourn	Lig	htle
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT
11' x 3#/ft	50	\$19.00	\$950.00	\$23.43	\$1,171.50	\$28.71	\$1,435.50
12' x 3#/ft	150	\$20.72	\$3,108.00	\$25.56	\$3,834.00	\$31.32	\$4,698.00
13' x 3#/ft	300	\$22.45	\$6,735.00	\$27.69	\$8,307.00	\$33.93	\$10,179.00
14' x 3#/ft	450	\$24.18	\$10,881.00	\$29.82	\$13,419.00	\$36.54	\$16,443.00
15' x 3#/ft	50	\$25.91	\$1,295.50	\$31.95	\$1,597.50	\$39.15	\$1,957.50
GREEN BAKED - T	RUCKLOAD TOTAL	\$22,9	69.50	\$28,3	29.00	\$34,7	<b>'13.00</b>

ITEM:	ITEM: Green Baked - Dornbos Dornbos		Osk	ourn	Lightle		
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT
11' x 3#/ft	50	\$23.27	\$1,163.50	\$24.31	\$1,215.50	\$23.10	\$1,155.00
12' x 3#/ft	50	\$24.84	\$1,242.00	\$26.52	\$1,326.00	\$25.20	\$1,260.00
13' x 3#/ft	50	\$26.41	\$1,320.50	\$28.73	\$1,436.50	\$27.30	\$1,365.00
14' x 3#/ft	50	\$27.98	\$1,399.00	\$30.94	\$1,547.00	\$29.40	\$1,470.00
15' x 3#/ft	50	\$29.55	\$1,477.50	\$33.15	\$1,657.50	\$31.50	\$1,575.00
GREEN BAKEI	O - BUNDLE TOTAL	\$6,6	02.50	\$7,18	82.50	\$6,82	25.00

ITEM:	Galvanized - Bundles	Dor	nbos	Osk	ourn	Lightle		
DESCRIPTION	QUANTITY	UNIT	AMT	UNIT	AMT	UNIT	AMT	
13' x 3#/ft	100	\$31.39	\$3,139.00	\$39.39	\$3,939.00	\$39.90	\$3,990.00	
GALVANIZED - BUNDLE TOTAL		\$3,139.00		\$3,93	39.00	\$3,990.00		
ITEM: Galvanized Delineator						Lightle		
ITFM:	Bundles	Dor	nbos	Osk	ourn	Lig	htle	
ITFM:		<b>Dor</b> UNIT	nbos AMT	Ost UNIT	ourn AMT	<b>Lig</b> UNIT	htle AMT	
ITEM:	Bundles	Dor					1	
DESCRIPTION 7' x 1.33#/ft	Bundles  QUANTITY	UNIT \$10.95	AMT	UNIT \$13.58	AMT	UNIT \$12.80	AMT	
DESCRIPTION 7' x 1.33#/ft	QUANTITY 100 R - BUNDLE TOTAL	UNIT \$10.95	AMT \$1,095.00	UNIT \$13.58	AMT \$1,358.00	UNIT \$12.80	AMT \$1,280.00	

## Osburn Lightle Dornbos POSTS TOTALS \$46,808.00 \$33,806.00 \$40,808.50